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Graphing Sine/Cosine Trig Functions WS #2 Date Period

Find the amplitude, the period in radians, the phase shift in radians, the vertical shift, and the

minimum and maximum values.
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Find the amplitude, the period in radians, and the phase shift in radians. Then sketch the graph using

radians.
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Find the amplitude, the period in radians, and the vertical shift. Then sketch the graph using radians.
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Find the amplitude, the period in radians, the phase shift in radians, and the vertical shift. Then sketch

the graph using radians.
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Answers to Graphing Sine/Cosine Trig Functions WS #2
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Amplitude: 3
Period:
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